Adda

24

SJVNL
ET

Previous Year Paper
Electrical 2013

GET IT ON
Google Play


https://applink.adda247.com/d/XhqWf9lSap

Adda

247 GGEchgle Play

DU V¥V LY memmem—— - N
KLET !
e gzr:ﬁf/TEST BOO - .
fir? A gHAE [
TR BH DS i pd b e Test Booklet No.
Form Cod Test Booklet Code y
orm e v
B A 0301076
S :
: . swadlt @1 SIS
sy 1 (TS SHER A) , Roll No. of the Candidate
Name of the Candidate (In Block Letters) ‘
sl | qflen By @1 A o
4 S S Write Name of the Test Centre:

Signature of the Candidate with date

DELYI JNTERNATIONAL QCHOOL QaCTOR-2%
06|40 (0|3 pwaRkn 252326206 [ NEWDOELH) - |1g067)
o we/No. of Questions : 150
fdmed siw/Maximum Marks : 150
faaiRa wwa/Time Allowed : 02:30 "@ei/Hrs,
3rgev/Instructions:

1.
2.

10.

0 gdieT QR 3 28 S5 € |/This Test Booklet has 28 pages.
HAHR Me & am, Aa 5., wa s @@, wa gRae @, ue, scafs sRa awr sgel &1 AT & R
el A A B A W U P ST B | AeA/5H 97 A1 GRS BT feed o AT F A T B Use

only blue or black ball point pen through this sheet, for filling Name, Roll Number, Question Booklet Number, Question Booklet
Series, Post, etc. and for shading the ovals. In no case gel/ink pen or pencil should be used.

ufraﬂgﬁgﬁﬁmmmaWﬂMMan#mmﬁMﬁagmﬁﬁﬂ’tI/Fiuupthe
necessary information in the spaces provided on the OMR Answer Sheet in capital letters in English before commencement of the
test.

W WA & A B C, D& ¥ # av dafeus e ¥ | WA I HE/AAD IULFT Se” G 3R GHRT 3eer &
T B G TWe 516 A &I G0 /e o6 a fpw 7w et @ AR B 8 & FW@M| / Each question has four

alternative responses marked A, B, C and D. Choose the correct/most appropriate response for each question and darken the circle of
the appropriate response completely. Incompletely darkened circles are not read by the OMR scanner.

ﬁ:@hsﬁmaa:ﬁmﬁzmaiﬁm#mmﬁmaammﬁmvﬁ?-‘rmr-‘rmaﬁmmml
ffem, sMastén, RE & @ e AT S/ Do not darken more than one circle of options for.any question A

question with more than one darkened response shall be considered wrong. Scratching, overwriting, tick i H
. , LicK-mar
wrong. , 4 ks will be considered as

W I 3R & AT 0F HD RA; S| wmonenss i ww B VAU A& ¥ / There is one mark for every correct

answer. There is no negative marking. .

HAPIIC, Hase, 3EUE, AT AT K SIS B TomoId TG B / Use of Calculator, Mobile, Ipad, Log Table etc. are not

permitted. -

e B I P ¥ A F6 ud gfeaw & @ vee Trell e W &y ~
T I/ Rough work, if any. shoul c
sheets provided with the question booklet, - ’ Y- should be done on the blank

mMmmﬁWmmsﬁm%méaﬁmmmﬁmmaﬁﬁTme/
OMR Answer Sheet must be handled carefully and it should not be folded or mutilated in which case it wil] not be evaluated

AT fF 3caw 7 o ! .
g ghA R e W olers, dud & gAY gur G2 3t & @rer @ /Ensure that your OMR

Answer Sheet has been signed by the Invigilator, Company Representative and the candidate himself/herself.

HL.O0eT & 37 & MANR ek o e @ i 3 amtﬁmuﬁar—uaua’mag%wmqmmm%l

/At the end of the examination, handover the OMR answer sheet to invigilator, C

booklet, andidates can retain their admit card and question

6 IR, 2013 / 6™ October, 2013
. - wEnE/All the best:-


https://applink.adda247.com/d/XhqWf9lSap

Addaz4l7

132 Prime

ALL EXAMS, ONE SUBSCRIPTION

—— C——
80,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt

600+ 20,000+ Previous 500%
Exam Covered Year Papers Refund

ATTEMPT FREE MOCK NOW


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076

Adda2i?

)
i ime is known as¢
1. A'graphical representation of the discharge and tim

drograph

(a) Load curve - (b) Load Duration curve (c) Monograph ﬁ;”v rog .
| ur @ femts ok g @1 TP ﬁm;ﬁﬁ@ﬁ%mmmm
(&) o3 deh (@) g e ah @ AEE EEE

: : : is used to determine
2. Flow duration curve at a given head of a hydro Electric plant 5

i vailable
(a) Total power avajlable at site (b) Totallunits of energy @

iversi f the plant
© Nepkodd factor (d) Diversity factoro
' T A8 ?

z.qw@m?w%awﬁé@éewwﬁtﬁﬁﬁm$ﬁmm'

() HTFT TR 3TAH el w1 (@) 3T Foll 1 el SIS Al

(3T) TS ke (&) §F BT AT HRE
3. The speci?ic speed of a water turbine is the speed at which turbine develops?

(a) Maximum horse power &y Units horse power at all heads

(c) Unit horse power at unit head (d) Minimum horse power

3. zatza 1 AR a1y a8 TR RN W edigd 4eT AT 87

(&) 3ifOeas BT UTdR (@) g ¥ UTaR 9l § g8 WX
an g B e 88 W (o) =geTe e uTa”

4. An adjustable blade propeller turbine is called a?
(a) Pelton turbine (b) Kaplan turbine (c) Francis turbine “Adj"High head turbine

4, Teh FATISY scig WUeR LETSa gl STl 872 |
() UoCo CLETS (W) FI XA (1) Wi ez () 85 2% ealzq

5. Foraconsumer the most economical power factor is usually?
(a)0.25-0.25 lagging  (b) 0.25-0.5 leading (e} 085 - 0.95 lagging
5. U UHIFAT & [T MR o) Fardt fhthrarely oTar. Baex 217 &2
(&) 0.25-0.25 =fT(@) 0.25-0.5 FET 1) 0.85-0.95 ST () 0.85-0.95 ST

6. In distribution system for power factor improvement, the powers of factor correction devices
_—_
are installed?

(d) 0.85-0.95 leading

(a) At the sending end (b) Near the earthing point
—|eYAt the load end (d) anywhere in the circuit

6. UTdR tﬁww%ﬁmfﬁaﬁwﬁﬁ,wm

. a—m T
T IR HoTTeh! f¥arsw #7 carfog
(®) IR A5 a1 T & qRY (@) AR & arg
MAe B U (4) T B e
7. Agas turbine power plant is best suited for?
A Base load (b) Peak loads
: ' N (c) Emergen
7 U I eXaTge freTe 5 by TR P dle B frg Bm;yam 2 -(d)none R i
(F) 99 A (@) 91 A (3T) AT (F) 378 & &S 78}
Series-A B J EEE W )
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(d) Commutator motors

. - . ‘ . ?
8. The primary reason for low power factor Is OWINg to instalation of?
(a) Synchronous motors (b) Dc motors v)/l’nduct on motors

q Y Th F ‘? HHdT 22
8 FH TS ey & foll HrUfas 0T =
() oA HeH (@) S HeE (W)Wm () FFIER Fed

9. A 100 km transmission line is de5|gned for a nominal voltage of 132 kV and consist one conductor

per phase. The line reactance is 0.726Q/ km. The static transmission capacity of the line in mega
watt would be?

(ay132 (b) 240 (c) 416 (d) 720

9@100km§mﬁmﬂm§?{ 132 kV B 7T 7 Preder IR BT ?N%?W@fzm‘s‘ﬂs‘é
© oA @RI 0.7260/km.§|mwmmmwﬁmgbﬁ?

(@)132 (@) 240 (@M 416 (E1)720 | \
10. The intertia constant of a 100 MVA, 11 kV water wheel generators is 4. The energy stored in
the rotorat synchronous speed is?
(a) 400 M Y200 K) (c) 25 M) (d) 25 K
10. T 100 THATT, 1| HdY 9Tl GIEAT STe F1 Sreeh {pT'rM?.W?T%#WﬁMH
A BT |
(F) 400 THS. . (&) 400 .. (3N) 25 TH.S. (€) 25 &3
11. Solid earthing is done for voltage below?
(a) 400V (b) 600 V (c) 11 kv (d)66 kv
11, S ST fohey ¥ dteder & AT il & 2
() 400 &Y (@) 600 dT @M 11 &dl () 66 FHar

12. Resistance earthing is employed for voltage rating between?
{aY3.3to 11 kv (b) 11 & 33 kv (c) 33 and 66 kv

(d) 66 kV and 132 kv
12. 9faRer m3fEar 1 ateest 9 & T &) ot 22

(&) 3.3-11 ShaY (@) 11 UF 33 hal (3N) 33 3T 66 HdT (F) 66 HaT 3T 132 Fay
13. Which of the following neutral systems will require the lightin
(a) Insulated

g arrester of least voltage rating?
. (b) Solidly earthed (c) Resistance earthed ¥ Reactance earthed
mmﬁwmwwaﬁmwm@mmmmwmg

@) TEfcs (@) ifereeh aefes  an Rivrew 3194‘3

(') R arefs
14. The voltage of a transmission line can be controlled by :
(a) Excitation control

(b) Using Induction regulator
(c) Reactive var injection method

(’d) any of the above
14.%%%@6@3%%%%%%%
() 3ccrota fg=or () TS ma
@ Rufge éa—qrafm%ﬁ: () STFT 7 A P ofy ps %ﬁ//“@’
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15. In a distribution system the voltage can be controlled by using -
(a) Tap changing transformer (b) Booster transformer

1

(c) Induction regulator (d) Any of the above

|5, e TEROT oTTel & aled st [ soiredt @ ﬁraﬁaﬁﬁm'nmﬁm-
(@) TABE B 27 gy () CEARARILITRS

(a) oot AaTF ) m}a?am} s ofr

16. The maximum tordue angle in a directional over current relay depends on?
(a) Impendence of pressure coil. (b) Impendence of current coil
(c) Impendence of both the coils (d) none of the above

6 SRR SNaX Fe R % 3ifErer o T e T SR AT E 7
(aF) e STl s (@) F<e F P

(3T) ST BT R IREE (7) T A A PG AL
17. With change in source impendence which relay is not affected?
(a) Over current relay (b) Directional over current (c) Distance relay (d) Differential relay

17.%@@@%% o T oy yaifad 78 grar ?
(@) MR &t Ra (@) sRvaeEE Fte o (M fea et (=) Bmeerge T

18. The frequency of the carrier in the case of carrier current pilot scheme is in the range of?

(a) 1 kHz to 10 kHz (b) 15 kHzto 25kHz  (c) 25 kHz to 50 kHz  (d) 50 kHz to 500 kHz
|8 BRET e TAAE ANSTAT ¥ gy F df BT IR m HATH G 2
(&) 1 kHz to 10 kHz (@) 15 kHz to 25 kHz  (3T) 25kHzto 50kHz (&) 50 kHz to 500 kHz

19. In order to quench the arc quickly and also optimize the dimensions of circuit breaker
(C.B) generally?

(a) Oil C.B is preferred (b) Air blast C.B is preferred
(c) SFs C.B is'preferred (d) Minimum oil C.B is preferred
19, oed) 378 gETe 3R BH TP & 5 # F7 6 Gibe AHT ST 27
() oTad . s (@) TaX =rae 9. dr
(3T) THUG, Y. &7 (6 FgATH el 1 i
20. With help of reactive compensation it is possible to have?
(a) Constant voltage operation only (b) Unity p.f. operation only

(c) Both constant voltages and unity p.f.

~0. Reafreg Fatage @ 7 @9 8 & 8 7
() Frae Fretar IR Had (@) T gAY BFET. TG Sadt
(mesrz%zaﬁe%aa?ﬁgﬁﬁwmﬁvﬁ (9). PG diees a1 FHiges GE7 It

21. Efficiency of a power transformer under no load condition is approximately?
(a) 75% (b) 50% (c) 25% (d) none of these

(d) Either constant voltage or unity p.f.
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5| T iR @ e R R @S 3 ST r
(&) 75% (@) 50% @ 25% - éﬂ)sﬁﬁﬁﬁ??ﬁ

22. A Synchronous generator connected to an infinite tlaus delivers power at a lagging p.f.
If its excitation is increased? |
(a) The terminal voeltage increase (b) Reduce power losses
(c) Increase power transfer capability (d) (a) and (b)

2. U it 9 A ST Toh JedehiToien STele AT o 2 faretely I & A1 g
TSI JoET I & ad? | |
() T dleest 9fg (@) F FaroTell Feharet
(31) TR ST & A gfg (@@ IR@

23. An Alternator has a phase sequence is RYB for its phase voltage. In case the field current is
reversed, the phase sequence will become?

(a) RBY (b) RYB (c) YRB (d) None of the above
23 wmzwanmw%amémws% I e e e & a9
WWG{T@W’)
(@) RBY (W) RYB (37) YRB (@) P A T
24. If the effect of earth is taken into account, then the capacitance of the line to ground?
(a) Decreases (b) Increases (c) Remains unaltered (d) Becomes infinite_
24@Mmmwﬁmm%ﬁaﬁqéq&ﬁﬁ%ﬁﬁﬁﬁm?
() P @A I wh ECCI
25. Which of the following statements regarding corna are true?
(a) It causes radio interference (b) It attenuates lighting surges
(c) It amplifies switching’s sequences - (d) It causes power loss
25 T X @ BN a1 T B $ [T a9 ©
() YA SeTHTE B (@) TR &S A BT
@) fEafRiar gt qer () 9T & B
267 A generatori connected to an infinite bus. With loss of prime mover which relay
will be act? , '
(a) Ground directional relay (b) Phase directional relay :
(c) Fault directional relay (d) Power directional relay
26. maﬁmwmm#m%m@?%méﬁémmﬁémm?
@ AEE RAEE R (@) e e R
(1) e fameA® Rel (&) 9TaY fRimeAe el

27. For successful parallel operation of two smgle phase transformers, the most essential
condition is that? _
(a) Percentage impedances are equal _ (b) Polarities are properly con’,nected
(c) Ratios are exactly equal : (d) kVA ratings are equal
; ¢ "
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et SE At AE B fH ?

\

7. &) RaE B gimsirawmwi?ﬂ IR & faT .
(@) i ghdE s @) R &F q TeI

(31 & AT ST (er) vl AT AT

i ines-i i d on?
28. The insulation of modern EHV lines:is designed base . ‘ o
(a) T;me lighning voltage (b) Corona  (c) ﬁladiounterferences (d) Switching voltage

. ; IATE ?
28, 3Ty Foveh ST TSI S gegeRIeT o HTEY 9T defreim o R e
() crehin AT @ @0 e EE D RARTSIES
29. In a power station, the cost of generation of power reduces most effectively whens .
(a) Diversity factor alone increases (b) Both diversity factor and load factor increases

(c) Load factor alone increases (d) Both diversity factor & load factor decrease

29, TS qTaT T2 3 Tl 71 G A B SR & T 2 s
() ARt dee A o (@ T ok de SRR A A gfE T
(3N 3 s trereT F IR (%) T of dits dered A A

30. A dc generator beyond critical field resistance will generate?
(a) Maximum power (b) Maximum voltage (c) Maximum current  (d) No voltage

30. T STHT FXex T Fieehat Pis Jfm ST 8 ) & 2
(&) stfrhaw orfRp () Afdreraw Freesr WEICESES (%T) 7T FreesT

31. The voltage regulation of a dc generator at full load being zero implies that the

generatoris ?
(a) Shunt connected  (b) Differentially ~ (c) Cumulatively compounded (d) Series connected

31. 0% 31 @ SR &l dees R g amar o S & @ gqa aned 2
() U J=T (@) SHRA () T FAURRS (1) e e

32. If the applied voltage to a dc machine is 230V, then back emf for maximum power developed is?

(a) 115V (b) 220V (c)230V (d) 460 Vv
32. TR st orfn 3 Rrg u et wefir 71 gAe deesr 230 v 2, ot 3 STAH B ’§>
(%) 115 ot (@220 (m)230d  (7) 460

33. A 200V dc machine has an armature resistance of 1Q. If the full current is 20A, the difference in

thein ceEj-\/oltage when the machine is rupning as a motor and as a gemr is?
20V ~ (b) Zero M (d)sov . ~ -+ Ej’fiq

33. 7 200 v et meff A1 1097 T TRAT . AR TR B e e 08 3 O ,?;;;

9 7ofi TR HeT AT SlerdeR F ¥ # 7o @7 & 9 ?‘ﬁ‘éraﬁ?-ivrﬁaiar% ?

_ % ©
34. If dc series motor is::_s_gcifor an over hauling torque load. It can work stably if 900 ~

(a) Armature shunted by resistor (b) Field winding reversed
(c) Aresistor is put in series with armature (d) a diverter PUt‘across the field
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34, S s Wre aaT BT AE WTWEF@IT{W T e ST 8. g ReTaTd T A

Tl 8, 3P |
(%) WA ATER & g T 9 (@) B aERT ST I
)RR arfeR & it & | () ZEEE IS B ST

35, Speed-control by variation of field flux results in?
(a) Constant power drive (b) Variable power drive

(c) Constant torque drive (d) Variable torque drive

35. Hies Ghd UfRads 8 ) T e ?
() 3Te} e gifed (@) =< i 313
M) ReR % grem (A g

36. To save energy during braking?
(a) Dynamic braking is used
(c) Regenerative breaking is used

36. 379 ST 3 ST o1 a9 & (o0 ?
(o) TiRrefer FfAT T ok ST 8 (H)WWWW%
(v)gﬁﬁd’rirm%%v%mm% (H)ﬁ%ﬁmémifﬁmm

37.- A dc shunt motor is operatmg at no load. If the armature is shunted by a resustance it
(a) Increase (b) Decrease \/) Remains the same (d) Be unpredictable

37. Wéﬁﬁ?ﬁtﬁz‘f%ﬂaﬁawmmqré v e FEY $ FAME T 9 gEH M ?
(%) Tl @ued ¥ . (M A wdE (1) ST e B

s inadvisable?
(c) Induction motor  (d) Synchronous motor

(b) Plugging is used
(d) Mechanical breaking used

s speed will?

38. Running a machine atno load i
(a) Shunt motor (b) Series motor

38. T Wi R By A1 & T g B2 .
@) deqex (@ HEAT AT (M) EFRMART  (F) aHd AT

39. Armature torque of a dc motor is a function of the following factors?
(a) Speed(b) Field flux (c) Armature current (d) Both (b) and (c)

30, 0% TS X F AR A% Frefea Eren | T a2
(F) T @&TFyEE (M aAdEEte  (9) A1 (@) W

40. Synchronous Capacitor is? ¥
(a)An ordmary static capacitor bank q

(b) An over excited synchronous motor driv‘ing mechanical load’

(c) An over excited synchronous motor without mechanical load

(d) None of the above
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10, qeudIia® aefRE g ? '; §
(a»)ochmmtmﬁv’(amﬂ?@?l? i §
@) ek 3T0F Ffer H—Wﬁﬁmﬂwmw B

(muan{ﬁ!a?araﬁﬂ Wﬁﬁ?mﬁﬁiﬁ ERIGIE]
(E1) SR & IS 6T

41. Damper winding is used in Synchronous motor for?
(b) Efficiency improvement
(d) Minimizing temperature rise.

(a) Power factor improvement
(c) Eliminate hunting of the rotor

41, SR ABRT Jeamiom A AF SritaT FoRaIT STl &7
() qRY %mgﬂr\r (@) &THAT GUR
(3N) AT & B B el (&) ATTAT 3 T AT

42. Four identical alternators each rated for 20 MVA, 11kV having sub tran

of 16% are working in parallel. The short circuit level at the bus baris ?
(d) 80 MVA

sient reactance

(a) 500 MVA (b) 400 MVA (c) 125 MVA

42, TR AT 3oy 20 AT 3K 1134 =g ok &iek BrRd 2l T Dl ITEOTh

iR R 16% & @9 99 X W 1€ |fhe @ e ?
() 500 THATT (W) 400 THAIT () 125 THAIT (¥r) 80 THAIT - __LL

43. A smaller air gap in a poly phase induction motor helps to? 20 PeN \ ¢

(a) Reduce the chances of crawling (b) Increase the starting torque
(d) Reduce the magnetizing current

(c) Reduce the chances of cagging W
43. W Bler TR ag B RO A A HeG Bl & 2 @K
A

(&) o1y Y GHTGAT Sl A Y () U 2 TG

(UT) BT Y FHTIAT Bl hA Y () AT BRe dFH & g Y
3 phase induction motor is running at slip S. if two leads are interchanged, then its slip at that

instant is?

(a)2.S (b)1-S (c)2-5S (d) Zero S V\%"A/j

44, T 3 B X7 Hiex o9 Rew W g @ ? At 393 B wed o & @ 39 ue @

sa@ Rerg ? . _&
%f%:s

() 2.TH (@1 -t" (M2-TH (F) LT

45. A4 pole, 50 Hz induction motor runs at a speed of 1440 rpm. The frequency of rotor - 5‘5 (
RN RS

current is?
(a) 3 Hz (b)25Hz  (c)1Hz (d) 2 Hz ??7‘" g%w‘

45. Teh 4 GIT, 50 ot UXOT A 1440 JRTTHA AT 17T A TATAT &, a7 e poe bt 3mgfa "\k 3(

(F3IFT (@ 25EEST @D IFST  (F) 28 \
e £o —g & %M
o)X . \
/\W{/ B P 2

o
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46. Aninduction motor has rotor resistance of 0.092 olgm/phase. The resistance is increased
to 0.004 ochm/phase then maximum torque will b?'
(a) Reduced to half (b) Increase by 100 %

(c) Increase by 200 % (d) remains unaltered

46. T OTOT FeT @1 A R 0.002 3 / G  af 7 0,004 /G5 F A A 3
79 Al & T ? |
() 3T A HA (@) 100% &1 3fg
(1) 200% T (61) 3BT BT &

A7. Stator voltage control for speed control of Induction motor is suitable for?
(a) Fan and pump drive (b) Drives of crane

(c) Running it as a generator (d) Constant load drive

47, S e &1 AT T AT & AT TR et AT SULFA & ?

(o) the 3R 4O 315 (@) % 35a
@) T H TWE TaW & T (o) R o1s 3159
48. Pole changing method of speed control used in?
(a) Slip ring induction motor (b) DC hunt motor
(c) DC sense motor (d) Squirrel cage induction motor
48, QYT T acoley faTer A iy fedaer el @ 2
() feerg T ST X @) & & eHeT
(@ S Hifsr Al (@ Freredt R 90T A
~49. Synchronous speed of induction motor can be increased by
(a) Reducing mechanical friction (b) Increasing supply voltage
(c) Increasing number of poles (d) Increasing supply frequency
49, ST X & Jedohliels id # FSTAT AT TFAT g ?
() Ty aOT I FA B (@) TS decoT s F
(1) 53 Y et FET () §aTg ATt T HTgfed dgm @

50. The concept of v/f control of inverter dirven induction motor results in?

(a).Const torque operation ' (b) Speed reversal

| (c) Reduced magnetic loss (d) Harmonic elimination

s0. tRor AR A V/f e S A IFURIT T B ?

(@) Tt €1 AT (@) TS 3ehAT ,
(an) orbra A T FH § (¥) B 3eHe A

51. A static Kramer drive allows the motor.to run at?

(a) SynchroﬁouS speed 1 (b) Super synchronous speed

(c) Sub synchronous speed (d) both (b) and (c)

———
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5| U PRR 3T 3T AYeT P ToTe & FT IR ST 6 ?
(%) JegeTiore a1fd (@) YR Foawrterd A
(31) 3T TeqHIToreh T () At (@) 3R (@

52. In a 3 phase induction motor the regenerative braking occur when'?
(a) The load is lowered by a hoisting machine
(b) The load is raised by hoisting machine
(c) The motor falls due to over load
(d) The no of pole is reduced in pole changing motor

52. U 3 B T H qorafelt 3 oo @il & o7 7
(F) T 3UTT FAT A A 2 Fawy oy
(T) R 3cYT9 7T ART oS 33T ST &
(1) A A 715 3170 2R & FRoT R ST
() AT H 9T G 37 F@ |

53. In a self excited induction generator to keep the frequency of generated voltage constant,
with increase in the load, the speed of induction machine should be?
(a) Increased

(b) Decreased
(c) Maintained less than the synchronous
(d) Maintained more than the synchronous speed
53.@Hﬁqmﬁ%ﬁﬁwmaﬁa}ﬁ‘aaﬁaﬂgﬁmm%mmaﬁaﬁﬁwﬁ
;T wef @ iy S afRe?
(F) A ghg (@A
(M) Teaohliers & 5T o (51 Fearantior a1far @ off 317

54. Linear induction motor is used in?

. () Traction (b) Magnetic attraction  (c) Mechanical workshops

54.%@mwm&ﬁm%m% ? _
(F) ST (W) T 3TeReoT (1) HAe AT Frtemamsit (8) 35 et

55. A3 phase induction motor is fed from balanced 3 phase sup

Ply on rotor side short circulating
the stator termin speed of rotating magnetic field is? T e
(a) Zero ,

(b) Equal to rotor speed

('g) Textile mills

() Equal to synchronous speed (d) Equal to slip speed

55.@3%%@%@%%%%@%3%%@@%%
W%n%éﬁ%{aﬁaﬂ'ﬁm%}?

- (F) T (@)ﬂaa‘sw_wﬁ (N Teahfas aifay & gorey (T) fw Ry $ §9
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Jotor Y/A switch is an equivalent auto transformer

56. For the purpose of starting an Induction
of ratlo?

(a) 33.3 % (b) 57.7 % (c) 7.2 % (d) 100 %
56, U YUt ey & ) & vrereT & faw v/ A feaw, Wﬁfﬂ SR % I B & &7
(¥) 33.3% (@) $57.7%  (M)73.2% (50 108
57. Power factor of slip power recovery scheme of speed control of induction motor is?
(a) Near unity (b) Very low  (c) Above unity (d) Always (a) and.(c)
57. 9XT AV Y a1fey u farerror Y e Reparl fafer 1 oraw Gt & 2
() T 6 R () g o (M) TF ¥ FIR (E7) §HAT (&) 3 (M)

58. When R, is the resistance of secondary winding of transformer and K is the transformation ratio,
the cquivulcnl secondary resistance referred to primary side is given by?

(a) K R (b) K* Rs (c) Rs/K (d) Rs/K?

58. AfS Ry sfrty A=l awgfenm an & 3l uREd s k 81 A Apsdl ufeRiE P Al
asadl Ass A dwnr 9
(F) K R/ (@) K? Rs (M) Rs/K () Rs/K?

59. A transformer having 100 turns of primary is applied with 200 V ac. In order to get 400 V ac
on secondary side, the number on secondary side turn must be?

{200 (b) 800 (c) 50 (d) 100
59. qeszmqunﬁzoovlooﬁ%mmwﬁmm%mmovﬁmm
A am 3 R o g el 2
(@) 200 @) 800 (M50 () 100

60. A transformer can have zero voltage regulation at?

(a) Zero power factors (b) Laggihgpower fact(;r
(c) Leading power factor (d) Unity power factor
60. U SIABIHR # Y dleesl RfFFA g wFaTd 2
(F) Y IR BT (@) AT T By
(@) ST qrET G R GER il Ty

(-51 Inas0 kV transformer the number ofterms in primary and secondary winding are 834 and 54
respectively H"pnmdry connected 3300 V supply the secondary current will be?
(a) 15 A © ()30 A (c)218 A (d)438 A

1. T 50 I SBT3 ety afy Ae R 3 ﬁﬁm834%3ﬁxmr S48
qfaqrgqﬁmm%movmﬂm%fﬁﬁﬁﬁmnm \0
(@) 15 A (T)30 A (M 218 A (8) 438 A Of

ﬂ%
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62. For large transformer the best utilization of the core can be'l 1

»2. For large trans s

: jon
(a) Square core section (b) Rectangular corc sectio
' section 1) none of the above ‘ '
(¢) Stepped core section (¢ ’ . ;
62 @gﬁé&?*ﬁﬂnﬁmWW%maﬁm (A TFR) ST ST B

() TFATIR I HAHTIT (@)WWW | T/,w\
g I TR ) W*ﬁé’ﬂ'@f }"tl winding are?
63. Zero sequence (:u:rem can flow from a line in to transformer bank of the wi g »
(a) Grounded star/delta  (b) Delta/star . (c) Star/grounded star (d) Delta/Delta i
65, Frer 3 2 o sl ol B s 3 4 B @ R 0 0 A o e E -
() AT TR/ Secl (@) 3o/ TR (N R/ TRIES: TR (¥7) 3ecT/ Secl

64. The magnetizing current in a transformer is rich in ?

.. h .
(a) 3 harmonic (b) 5™ harmonic (c) 7" harmonic * (d) 13 harmonic
64. T TRIGTHR 3 AFTEerRRiT O & B W gl wE o 2
(F) gTAlfa 3 @) gTAfAF 5 @emiw7 (maﬂ‘fﬁ’ﬁ 13
65. What is the phase displacement in primary and secondary voltage of a 3 phase transformer
with Dyl | connection?
(a) Zero degree (b) 180 degree (c) 30° lead (d) 30" lag
65. T 3 BT Dy || FRA aR AT Jrafdd 3R Apsdl atecst # ot faeuas a1 5?
(F) g 3ol (@) 180 f3af (M) 30°70S (d) 30° T

66. What is the phase displacement between primary and secondary voltage in a 3 phase transformer |
with Yy6 connection?

(a) Zero degree (b) 60° lead (c) 30° lag (d) 180" ,
66. Yy6 T Al U 3 ot ZrawhraY 3 wruffe 3R dasd) ated st & 9 & RReaas
FTE ? .
CONAED (@) 60°Ts (N30 (@) 180°
67. The armature reaction effect in synchronous machine depends on?
(a) Load Current (b) Power fa’c.tor of load (c) Speed (d) Curreﬁf va.md-pf bf Iéad |
67. Tedentoren AieT # TR Sfafar g F o ek aRar i

@ASHE (@S T IRT @S

' () 18 H{T AR TS IR By
8. Unbalanced 3 phase stator current cause? |

(a) Vibrations (b) Heating of rotor

(c) Double frequency current in rotor - (d) All of dbove

*1——
A 2o m e R ———————— e ——
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68. 3m‘_[fa-n%ﬁfream § @ w8 7
() YT
(1) Ve & 59 Arrgfeey & 4N EATe

i | e is perfor determine?
69. Slip test on synchronous machine is performed 10 .
(a) Slip (b) Direct and quadrature axis reactance

(¢) Positive sequence and negative sequence reactance (d) Sub transient reactance
69. S aepITeres Fe o e T ey A & O  Prtifa e & fore frar s g
(F) fTY (@) FFE iR FEtET o Aoy

(N INiRT @ FRT drgg Rere (@) 89 g Roda

H ‘ » alt : )
70. For maximum current during slip test on a synchronous machine the armature mmf aligns along”

(@) AT 1 T AT
&) SURTeFeT HAT

(a)d axis (b) q axis (c) 45° to q axis (d) 45° to d axis
70. TR Feaahtord ALaT o Rerg adieror & el aifteam Fite #1 Rad & omifeR oionw fras &
Hia g & ? |
() 31 3787 (W) 9 3187 (M) T 3767 & 45° (&) Z1 HeT & 45°
71. Higher Synchronous reactance is preferred in the present day alternators, because one can have?
(a) Reduced sub transient currant (b) Reduced harmonic currents
(c) Reduced transient currents (d) higher voltage regulation

71. maw%ﬁﬂmgﬁm%#hwﬁﬁ%%ﬁmwﬁmw%”
(F) 39 7100 R & 7 F (@) Tt arIat B w7 FO

(3N &70Th aRTHY . FA F (¥) 3= dlecst AAgaa
72. When synchronous generator is designed with lower value of SCR it?
(a) Will give higher stability limits (b) Will have low short circuit current
(c) Will have better voltage regulation (d) Will have high synchronizing power
72. AT TN F THANTR WQ?HTUW WM @ 2
(%) 3T feRar & (W) FH AC T Fiw 2
(1) SEH atee s fafaasrer g () 35T JoThTTera &wa 2n
73 Which'is the best conductor of electricity?
() Iron & (b) Silver - (c) Copper BN Carbon
73. @ ﬁtrr#r T ﬂir@r o7 FeFT &
(%) e % (@) T () FT (%) Frdr
74. Which one of the’

Olloq&nng does not have negatlve temperature coeff icient?

(a) Aluminium w‘;b) Paper (c) Rubber

'(d) Mica
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74. ﬁmﬁfr?ﬁ?rmﬁmmmmﬂiﬁﬁ

(F) s=gHiAan (@) 9% (M) EE

75 All of the followipg are equivalent to watth except?

(a) (Ampere)?ohns ( b) Joules/sec . (c) ampere.volts

75 g & F uF F sy w912 F T R0 i
@) () (@) e/ Aw () T AT (¥7) it d

76 Ohm's law is'not applicable to?

GET IT ON
Google Play

i
(%) HTE]

(d) ampere/volts

(a)Sem"i-,conductor' (b) DC circuit ~ (c) small circuit (d) high currents

- 76, -a?m%marnl:rﬁa

) A

% sy @) ftafde T arate

e e RIRE]

77 lhe resistance between points A and B in circuit shown below?

(a) 4Q (b) 6Q (c) 8Q (d) 12Q2 &\p\,\_
/@Wﬁ‘w@ﬁrﬁaﬁﬁﬁwﬁ%a@mw | | PR
(F) 4Q (@) 6Q (1) 6 D26
: SSIJ
Skt i o s
(G

78 A delta circuit has each element of value R/2. The equivalent elements of th

8€C2

N

l
1 | ' L 3 &)
—= ‘ : 8277, R RE’S
(e~ Lk WU By 2 A

3

€ star circuit wil] be? .

(a) R/6 (b) R/3 ' (c) 2R (d)3R.
SeT Afhe % . B 5
_18"T® el dd H A R/2 8. T frarer afihe o o1 w0 2 o
(F) AT/ 6 - (@) /3 (M) 2 T (&1 )33nr,'.
79 If a circuit does not contain any source of energy or emf it is known as?
(a) Unilateral (b) bilateral (c) passwe (d) active Z8 o R 4
L T <
79%#@31&3611‘&%9%%‘?% a‘rwmw%? \
(%) TaTET (@) ey () fﬁﬁm (=) |l &
80 Thevenin's equivalent for circuit shown in figure below will be? N 4
()4.5V, 60 :

| (b) 125V, 3Q (©105V,2Q0 () 7.5V, 1.50 o
°ries-A

- i —
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80 A R frsy 3 A R B

@ asd 60 (@) 125430 ()/10.5 4T, 20 (&) 7.5 41, 1.5

,A A -"\ .
—_‘_""\f‘\'!.\f"'—;—'e\' ﬁ
V VM : E

ﬁa\%

/‘

81 While measuring power in a three phase load by two-wattmeter method, the readings of'

two watt meters will be equal and opposite when?

~ (a) Power factor is unity (b) load is balanced

(c) phase angle between 60° and 900 (d) load is inductive

g1 2 arewie FAfer gray vs i & o § A W & mrﬁaa‘%‘rﬁﬁv%maﬁtm

.WT%?EWITH@% - (@) A aged g~
() Sher Tfer 60° sfw 900 F A A & () e AT &

82 In the circuit shown in the given figure below, the voltmeter indicates 30V. The reading of

ammeter will be? |
(2) 20A b)) 10vZA - (c) 10A éhrero
g2 R R v afde &, areeriet 30V T 2T §. amefier #1 ga+ faar sroam?

(#)20T (@ 10¥2r @@ 10T ()
5 \‘ .
- /A/; i
30 % l
] ¢ -V _'
| \

S

J3Q) <L e

)
F. T ‘Mi
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. ; =2¢). The value of R1and R2
83 For the network shown in the given figure below 7(0)=361 and )
will respectively be ? . \
. (d) 292, 3Q
(n) 2Q2, 12 (b)1£2,202 (¢) 3, 202 i )
83 Sk P ik it Pravar % R 7 (0) = 3Q T Z (0) = 282 RI and R2 Wzﬂ;amam BIaT:
(&) 20, 182 (&) 160,20 () 30,202 (&) 292,
s 0
_..—-/\ \ A/ AA /‘\. s
Y /\/PF——,—__ \'// VoV
<> e
i N aipeme [
kikes < ky
I

84 The ratio of the readings of the two watt meters connected to measure power in a balanced
three phase load is 5:3 and load is inductive. the power factor of the load is?

(a) 0.917 lead (b)0.917 lag (c) 0.6 lead (d) 0.6 lag
84 T Wit et Ho7 Al I3 &Y are #iex 1 AfEer a1 31qerer 5: 3 FIR s
(F) 0.917 7z (&) 0.917 S (1 0.6 i (%) 0.6 AT é

85 Wiand W, are the readings of the two watt meters used to measure power of the a three

phase balanced load. The reactive power drawn by the load is?

(@) W, + W, OWi=W, @B +W) (@YW, —wy)
85 W1 W 2 vohdlel o afert diie @t afdd & TR & R s @ ae dex 9

R a7 @ B dlis av il 7 s afE 2

&) Wy + W, @) w, —w, () V3 (W, + W) () V3(W; — wy)
86 Lamps of 40W, 100W and 200W ratings are connected in different phases of a three phase

four wire supply. If the neutral wire breaks, then the lamp likely to fuse first will be?

(a) 200W (b) 100W (c) 40w (d) all lamps
86 40 W, loowaﬁtzoow%ﬁw%ﬁmw?ﬁw%ﬁwmﬁmﬁ%%ﬁw%ﬁ 43 gu

T G O, el A T e o e o

(F) 200 w (@ 100w (140 w (&) Teiroly

_
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‘ s the initial current IS¢
87 Inan RC series LilCUit excited by a dc voltage ofVY‘V()Il.s,,thc. il |

(a) 00 (b)~ ©% 5 ( df; K"
87 V aﬁaﬁéﬁmﬁﬂﬁﬁwmmmﬁ v 0 il
() 00 @)% () (M
88. Secondary breakdown occurs in?
(a) MOSFET but not in BJT (b) Both MOSFET and BJT

() BIT but not in MOSFET ~ (d) None of these
88. fFm A I s A & 7

() AEDE FrafeF A F (@) Argde 3 & a
(@ S F1 AT Hrde A (&) G A FIG G

89. When a thyristor is reversing biased the number of blocked p-n junctions is?

- (a) (b) 2 (c)3 (d) 4

89. MEREX & R argem e T S 3 8 @l T ?
F) 1 @) 2 ()3 . (') 4

90. In a thyristor?

(a) Latching current I;_is associated with turn-off process and hold current I;; with turn-on process
(b) Both I and I}, are associated with turn-off process

(c) 1;yis associated with turn-off process and I;, with turn-on process @/
_(d) Both I, and I, are associated with turn-on process @«

90. T R 3 7 W’*
(a)llaa;rﬁmaﬁﬂua#mqﬁwé@é%v é%

@) I, 31, A &2 9fFm § 8 3

(@M 1y % S 1, 9T e & R 3 N, B
(&) I 31, < o R o3 | N g
- 91. The function of snubber circuit connected across an SCR s to?
~ (a) Suppress dv/dt (b) Increase dv/dt \;; Ik CF/

(c) Decrease dv/dt  (d) Keep transient over voltage at a constaﬁt value —A

91. Ueh UH HIFR & 2 VX Ffhe 1Y el & ToT § 2

(@) Bt/ T AH (W) FGTC Y/ e
() 31t/ Sy Tt () e RO {2 o2 47700 et /Tl

92. The object of connecting resistance and capacntance adross gate circuit is to protect the
SCR gate against?

~ (a) Over voltage (b) dv/dt (c) Noise signal '
92. 3 Aithe § FHe ok e & Ry wda (SCR) %

(F) AR e (@) 3/ § (3T) T Ry

'(d) over current

M & o 3 R 29
(T M

Series-A
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93, To generate gate-triggering signal 1C 55518 often used in’

(a) Monostable (b) Bistable (c) Astable

93 R Hahel A asr%%i%mmé?ﬁmwﬁmﬁmm?? |
(@) AR (@) TR R (N)FT 3 @IS Aol

d average values of 325V

94. Ina single.-phasc full converter if output voltage has peak an
and 133V respectively, then firing angle is?

0
(a) 40° (b) 140" (c) 50° (d) 130

GET IT ON
Google Play

(d) None of the above

‘94.@W%ﬁmﬁ-mgzmqﬁm@reﬂwaﬁﬁﬁ32sﬁﬁ 133 FAM:

T EEfe AT
(&) 40" @) 140" @) 50° (&N 130°
95. A freewheeling diode across inductive load will provide?
(a) Quick turn-on (b) Slow turn-off
(¢) Reduced utilization factor (d) improved power factor

95. %1 RT TAE F<ied die & T W& HN?
() Th TH A (@) §g UR

(1) UGN HREH FH BT (&) UfFT FRF H FUR

96. In a single-phase full converter the output voltage during overlap is equal to?

(a) Zero (b) Source voltage

(¢) Source voltage minus the inductance drop

(d) Average value of the conducting-phase voltage

96, Ter TR 7 O e 3 T 35 ST SOEGE AledsT Rl 3 ST E 2

(@) I (@) |id alecs

(I BT AreeoT A T 3530 3T B () ST B aled T & Iea g

97. SMPS are superior to linear power supplies in respect of?
(a) Size and éfﬁcicncy (b) Efficiency and regulation

(c) Regulation and noise (d) Noise and cost
97, THTANTH Y fasten #1 I & Joee g e 0

(F) 3R RGBT (@) &TAT 3R RfSgas
(@ RiagAT 3k I () AR 3R AT

98. The output of a feedback control system must be a function of

(a) Reference and input (b) Reference and output

(c) Input and feedback signal  (d) Output and feedback signal
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98. % wTRBRIT Preisror ooy % afgege it e 87
(%) #2134l oy (=) #e o AMGTYe
() S S o g () oegE o T A
93. The initial response when the output is note equal to the input is tgrmed______ response’
(a) Dynamic (b) Traﬁsient (c) Error (d) none of these
9. T MSEE v T a4 A A s SR sfafar waRk & o &
(F) wfasfier (@) afirE (M) e () 3T & FIE Tel
100. The time required for the response to reach half the final valqe for the first time is
called the? ' .
(a) Rise time (b) Decay time (c) Delay time  (d) Settling time
1oo.qg?~ﬁarrr%ﬁmmmg@m SifR g e g 3 Fore sffabar T % ferm s
HHT HgT STaT 82
(F) S®M9 99T (@) &7 997 @) 2 a7 (°) AP 7Y
101. If the System has multiple poles on the jw axis, the system is?
(a) Stable ~ (b) Unstable (c) Marginally stable (d) Absolutely stable
101, jw & R TF & 3P 44 2, ar foreewr 2 |
(F) Rz (@) sfFaw () ATt v (=) faeget Rax
102. Root locus diagram can be used to determibe?
(a) Absolute stability (b) Relative stability
(c) Conditional stability (d) none of the above
102. & A == Raiia F2 & o semrer B s aar 29
() M feoar (@) wTaer fRerar
() =erdt ferar () FUL F FIS gt
103. If a zero appears in the first column of the Routh Table, the system is?
(a) Marginally stable

(b) Necessarily stable

(c) Necessarily unstable (d) conditionally stable

103. U [ W ATIAHT & Tgel &9 § T 21T 2, q9 Fyeewy?

(%) ATEAT #T (@) F&0 Rz
() St srfear (%) gord feary
104. Nyquist stability criterion is employed for determination of?
(a)Absolute stability

(b) Relative stability
(c) Both (a) and (b) (d) none of these

SeriesA e —
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104, NGRET Frvap srds A o & fo il 47 \
KO URERER] (1) ey feerean
() &Y () 0¥ () (v1) wordl & A sl
105. Concept of a phase margin and galn margin Is applicable to .. systems only?
(a) Open loop unstable (b) Open loop stable
(c) Closed loop stable (d) closed loop unstable

105, Wt Wil e AR R vy R R

() sTFRR A qu (¥1) S e feare
WEEEB I (1) Srfeore s e
106. Phase margin of a system Is used to specify’? '
(a) Relative stability (b) Absolute stability
(c) Time response (d) Frequency response
106. B9 iRt AfEe aww & Do wava @ siar 872
() #Tirer Rerean () FAyer Raear
() wrry wh (1) srrgfecr i
107. A state variable approach can bd applied to systems?
(a) Time variant (b) Non-linear
(c) Linear and time variant (d) All of the above
107. Rerr sRefr ofter R Ry it =iy Ry st waaT & 2
() T HERTO[ () ¥ ety
(1) ¥ i T T (ur) Iuren Tt

108. The unit newton/coulomb is the unit of?

(1) Electric field intensity (b) Electric Mux density ;Q/

(¢) Electric-motive force (d) Capacitance o @
108 . 3T =TT / ordsl A gHSR?
() Fareger atar <Y et (@) fagye & warg gerea

(1) g feFgaR A srer (&) BIRIE : &/, (iﬁ\/

109, The quality of a Capacitor can be Expressed in terms of its? “3?

(a) Size (b) Power dissipation ]

(¢) Capacitance value (d) none of these
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109, U FUTRE & q[oTacar orsat % e (ol ST T €7

]

() HTEHR - (@) faegd 3T
@) fea 7ed () A AP AC
ely used as these are?

110. Deflection methods of direct measurcments are most widel
(b) Accurate

(a) Most simple
(d) most simple and least time consuming

(c) Least time consuming

110, FeTeT AT & {1 glmaﬂaﬁﬂ T ST B9 & SEATC [T Sl g7

(F) T8 TIA @) aéh
(1) FH § FH GG o arell (H)Haﬁmsﬁtwﬁmmﬁﬁaﬁﬁ

111. Air friction damping is used in the instrument which is?
(a) Moving iron (b) Moving coil (c) Induction (d) Hot wire

. maﬁw%ﬁwﬁ'ﬁfwa—oﬁﬁmﬁmw%?
(o) T SHERA @) i FE (@ WT CIEEERN
112. For a sensitive galvanometer, the type of support used i;'.i

(a) Suspension (b) Taut suspension

(c) Uni-pivot suspension (d) none of these

uz.w%aﬁaﬁaﬁﬁa%%&ﬁmmmmﬁmm%?
(&) feaaT (@)aarzj}n%a'aﬂ

@ g feae reeas (&) S A IS 6T

113, If two 300V full-scale voltmeters Vand V, having sensitive’s of 100k{Y/y and
g &

150 KQ/V are connected in series to measure 500V, then?

(a) V, and V, will read 250V each

(b) V, will read 300 V and V, will read 300V \
: ' “

(c) V, will read 300V and V, will read 200V %

(d) Viand V; W|I| read OV each

13, RAT, 21300 V B & dlee HIET V, mvzm?r Pl G FAT & 100kQ / V 3R
150 KQ/V ¥ 3R AEe A S FTEH W 500 V AT H &2

@) VTV, 250V 1 T IgT grem
@)V, 200V HTV, 300V T@TEET
@v, 300 v 3V, 200 V TGI8
() v, 3RV, g V I TaT g

(e

) T
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114, Electro-dyng; b .
1 " yhamometer type moving coil instruments are mainly used as?
3 e . . |
(a) Indicator type instrument \

(b) Standard instruments for calibration of other instruments )

\

(c) Transfer instruinents only

(d) Both as standard instruments and transfer instruments

nAﬁEEHaﬁ%mmqﬁwaqmmwmmewﬁmmm%?

(&) Gehdlh YhT &F T= (@) 3 FYROT &Y ST & [T HAD T
(31 TN & 701 (U)aﬁﬁqmaﬁaﬁtwﬁﬂwqr—oﬁ?% a%e
|15. Electrostatic type instruments are primarily used as? -
(a) Ammeter (b) Voltmeter (c) Wattmeter  + (d) ohm meter
115. sﬁmm%wg@a:%mﬁsﬁmwﬁﬁ
(&) 3T (@) AR (M) aTeHTEY (@ AR

1'16. The instrument which is cheapest for d-c measurement is?

(a) Moving iron (b) PMMC (c) Hot wire (d) Electro dynamic ‘«

1 16. ST #19 & T Td TEaT 8 Sl T 67

() T S (@) dreATTHr EEE K (%) g ST
117. Suppose the potential coil and current coil of a wattmeter are changed accidently and

supply is given, Then ? \
(b) Cuirrent coil will burn out

(a) Wattmeter will not read

(¢) Potential coil will burnout (d) Nothing will happen

117, T areae & FEe MR ae gEt e A G I © T4 2

(&) e AgT Go (@) HE Fgell o Sl

(a1 e et S (&) F& 8T g
118 A dynamometer type wattmeter responds to the? |

(a) Average value of active power (b) Average value of reactive poWer

(c) Peak value of active power (d) Peak value of réactive power
V8. U STifiex wep ot ATeHied A9 Tel o7

(:;gﬁﬁm (@) slafsraniier afera 3ed Joa

e (e wiafsraniier arferd &1 dieh #ed

119.1 i ‘
nduction wattmeter can be used to measure?

(@) A.C power (b
)D.C
power (c) AC or DC power (d) none of these

—————

Series-A
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119, IOT ATEHET AT & T
() gy e v S

(@) T G afed (@) T ; )
r is operating on 230V, S0Hy, SUPQI)L-W-"—Il-a«I»O?-d—O—[;QA g
3 ) ~ O

L 5?7
hours at unity power factor. The meter constant 15 \% 44

(a) 695 rev/kWh (b) lS(}(rev/kWh % )’/
' /KW T
(¢) 0.15 rev/kWh @y 17150 rev/kWh }

nzo.wﬁinat%ﬁﬁ‘rmazzov,zd'é%ﬁvzo/\ﬁ e 3 T S0 ST 1 I W ATH |

. A i R &7 pe |
() 695 TR/ fbettaTe (@) 150 TR/ FHitaTe _ Leyok 2
(3) 0.15 =ahY/ Fheitare (&) 1/150 =Rt/ feftare A

storage of data and program is called?
(d) EPROM |

(E) 3T | I el

120. A single phase energy mete

121. Computer memory used for temporary
(a) RAM (b) ROM (c) PROM

121.wmm%mmm%mmmwﬁmwé?
(®) ™ (@) T (7T) ST (%) gOH

122. Which is the following not an example of an output device?
(a) CRT monitors (b) Voice recognition on device

(c) Dot matrix printers (d) Laser printer
122. fAwfefea 7 TF I aTd f AL TH IS HIA AT g7
() "=t AifaeT (@) saTs 7T feareH
. () stz A e () A1 e

123. Which of the following is the only language that a computer can understand?

(a) High level language (b) Pseudo code
(c) Machine Language (d) Assembly language

123, 578 & UH FYEL % Fael 0 AT FYX G Gl &7

2 (F) Ig T AT AT (@) Ty FIe
() meft AT (%) STaHERl A
124. A macrois?
(a) A collection of commands (b) A subroutine
(c) Assembler (d) A machine instructio
124. TF ¥ E? .
() smeelt T TF Hyg
. (@) TF IYH=HT
(1) T STET

(%) TF wefim SFl’é'Qr

125. X window is an application with?
(@)052  (b)unux

:';(c) MSDOS  (d) none of these
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125. @@ Sl F1 & @ o alide 27
@) ATT/2 (@) P () o et
|

126. The base of Hexa decimal number sysfems; is? g
(@2 (b)8 (c) 16 (d) 10 ;

126. BT TTHAT AT IO A7 arerme 27
(%) 2 ()8 (16 (¥1)10

127. Bird flue is disease at which affects and spread through?
(a) Cattle (b) Sheep (c) Prawn (d) Poultry

127. 9 Y TF HH B N B P @) oo @ G B |
() 7l (@) 4 (my st (=) "
ive issues

128. Carbon credit is connected which one of these internationally sensitiv
(b) Rural Infrastructure |

.
(q) "rrll 7f ”a fc I

!

(a) Deforestations

(c) Protection of environment (d) Diamond trading

128.W%ﬁzﬁﬁm§mgﬁm@qwqmgﬁqgﬁﬁﬁw%3ﬁ
() T AT e w2 (@) efier T T
(3T) THTFTIT AT HEEAT () ST ATITT

129. The term deficit financing means the government borrows money from the
(a) IMF (b) Local bodies  (c) RBI (d) Public at large

129, raf?r & =12 #) e STawdT s THIT AT AT & GAT SYTE 41 ¢ bt wenadt &
(F) sSTHUE (@) erE AEE (1) W e 9w (=) &2 AT 9T AT

Y )

130. Which of the following countries attained the status of world sixth largest economy?

(a) Russia (b) Brazil (c) China (d) Japan
130, Fraferfag 2ot & & F1 @ g st gad G Ad=gTET 1 T ITH?
(F) T (@) arsia, () == (<) STaTH
131. The Simon commission was appointed in ? |
| (a) 1927 (b) 1921 (¢) 1929 (d) 1930
131. |TZ START 7= fgeh & mar 2
() 1927 (@) 192 1 (1) 1929 () 1930
132. What was the real name of Chanakya?
(a) Kautilya (b) Bishnu Gupta (c) Ramtanu mishra (d) No of these

132. |TUIT &7 (AT ATH FAT UT?
(F) Fifeea (@ B () e e () 377 | F15 787

- y e —
Series-A —

Page?B'
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133, When we i¢
Vhen was Burma separated from India?

2
(@) 1947 (b) 1942 (c) 1937 (@193
133. 519 0T AT & ayery gy 747 417
(F) 1947 (@@y1942 (M 1937 () 1932

134. The Red fort of Delhi was built by? :
(a) Akbar (b) Shahjahan ~ (€) Jahangtr

134, FeefY 3 wrer fpey g e a7 a1 ? —_—
) s (memesEl () TR Sh

5 .. . <0
135. University in presidency towns in India was established 1
C
(a) 1857 (b) 1858 (c) 1900 (d) 1909

135. T § D et 7 ae feafaEmed ¥ erfoa gQ ?

(F) 1857 @)1858 (M) 1900 (D 1909
136. Who had an explosive idea and first patented dynamite?

(a) J.R. Gluber  (b) A.Nobel (c) G.Fawks (d) W.Bickford .
136. 770 @ Pred TEd SERe A%E R 2

o R (@ o ded () E () I, A S

137. What Enrico Fermi invented?
(a) X ray machine  (b) Betatorn  (¢) Cyclotron (d) Nuclear Reactor

137.@&%@3{@@?% o1 9

F) rFg Ty R (@) dRrad () g (=) AT U
138. The last Maha Kumbh of 20" century was held at?
(a) Nasik (b) Ujjain (c) Allahabad (d) Haridwar

138. 20 & g F sifaw wgr 9 # swrAiSra fekar a2

(F) ATEE (@) ISA (T) FARETR () RER

139. The Words “Satyamev Jayate” incribbed-below the b |
' ase plate of
of India are taken from? plate of the emblem

(d) Shershah

(a) Rigveda (b) Satpath Brahmana (c) Mundaka Upanish
139. §ENT T 9T5E WIXE & Te1eh o9 e A= o Ry 3, :;ng %c; IWT((3%) Samayana
(F) 9T (@) T AT (7) G FufAg (=) ITrmm-

140. Which of the following g up ' igi
yroups of rivers originates from Hi
imachal Mountain?

(a) Beas,Raviand Chenab  (b) Sutlej,Beas and Ravj
(c) Sutlej,Ravi and Jhelum  (d) Ravi, Chenah and Jhe|y
m
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V N |
() =T, T ST BT () e, s o o \
() AT, TTAT ST ey () T, e S FAAH

{. Which atomic power station in India is built to completely indige
(d) Tara pore

n(')d\sly’?
\

|4
(a) Kalpak kam (b) Narora (c) Rawat Bhatta

141.Wﬁﬁaﬂwé9mgﬁmﬁw%w%mmmg? 28!
| () T (@) AT M) A W (50) T
142, National Institute of Aeronautical Engineering is located at?
(a) Dehradun (b) I,uc_know (c) Bangalore (d) Kanpur \
142, TRATTERe SR @ e deam i fRora 82
() TJUST (@) T@AS (M) AT () FALL \‘\

143, National police academy is located at?
(a) Bangalore (b) Hyderabad (c) Abu road .

143, T qfera srwTaHT # R g2
(F) TR (@) gEETE (Mo () WL

144. Central Rice Research Institute is located at \
(a) Rajahmundry -(b) Madra (¢) Cuttack  (d) Cochin \‘

144, 38rr =T rqEaT Fear # feaag? ‘
(F) TrerHEd (@) (T) e (1) = \‘

145. India Cancer Research Institute located at?

(d) Dehradun | |

\

(a) New Delhi (b) Calcutta  (c) Chennai  (d) Mumbai
145, e e R ey 7 R 82 !
(%) 7% fReett (@) Fershll UEEE (=) q=

146. The Present Lok Sabha is the? . .
(a) 9" Lok Sabha (b) 10" Lok Sabha () 14" Lok Sabha  (d) 15" Lok Sabha

146, AT ANFTHT 87
(%) 94t S T @iodi A w (M) 149 @B @ () 15F A6 T
147. The Minimum age of the Voter in India is? -\
(b) 18 year (c) 21 year (d) 25 year

(a) 15 year
147, Wﬁmawa?r:ag?maﬂg%?

(®) 15 @ (@) 18 ° (1) 21 AT (%) 25 9«


https://applink.adda247.com/d/XhqWf9lSap

Addazar =
Google Play

148. Who invented Electric generator?
(a) Sir Alexendar Graham Bell (b) Michael Faraday

(c) Alfred Nobel (d) Thomsan Alva Edison

148, ZA e SReR TR et T |
() TR SRSt TeH (@) A BT
(m)sTehe e (e7) et el CEE

149. Which Scientist discovered the radioactive element radium?
(a) Issac Newton (b) Albert Einstein  (c) Benjamin Franklin

a0, e v ) Yfeierelf v Yo T et 7
(%) STETH e (@) gt e (A AT () 0 0

150. The Book of Parasis is =
(a) Torah (b) Bible (c) Zend Avesta - (d) Gita

150. YR &1 T 8 |
@ - (@ R (TS dEEn (7) Fiir

(d) Marie Curie
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